
MATHEMATICS WORKSHEET

CLASS III                           UNIT

Name: ____________________

 

Fill in the blanks: 

1. _____________ times we can take away 6 from 54.

2. If 12  8 = 96, then 96 

3. 32 chocolates shared equally among 8 girls gives ____ chocolates to each girl.

4. The answer in division is called _____________.

5. If 8  7 = _____, then _____ 

6. 0  25 = _____. 

7. _________ sevens are there in 42.

8. 64  _____ = 8. 

9. 27 in equal group of 3 is _________ groups.

10. 96  1 = _____. 

True or false: 

1. Division is repeated subtraction (                 )

2. 48 ÷ 6 = 8 as 8×6 = 84    (           

3. When a number is divided by itself we get zero as the quotient   (                 )

4. 32 ÷ 4 = 8. Here 4 is called divisor   (                 )

5. When 0 is divided by any number  (other than 0) we get 0 (                 )

Underline the correct answer:

1.   _______    ÷  16    =   0         

2.    48  ÷  1  =  ________           (   48,      1,      0    )

3. The number to be divided is called as ____________    (  dividend, divisor,  quotient  )

4. 63 pencils shared equally by 9

   (  6,          4,         7  ) 

 

5. How many times can you take away 4 from 36  (   9,    8,    7  )

 

MATHEMATICS WORKSHEET 

UNIT-5 DIVISION 

Name: ____________________  Sec: ___________ Roll No.: ______

_____________ times we can take away 6 from 54. 

 8 = _____________. 

32 chocolates shared equally among 8 girls gives ____ chocolates to each girl.

The answer in division is called _____________. 

7 = _____, then _____  7 = 8. 

_________ sevens are there in 42. 

27 in equal group of 3 is _________ groups. 

Division is repeated subtraction (                 ) 

48 ÷ 6 = 8 as 8×6 = 84    (                  ) 

When a number is divided by itself we get zero as the quotient   (                 )

32 ÷ 4 = 8. Here 4 is called divisor   (                 ) 

When 0 is divided by any number  (other than 0) we get 0 (                 )

answer:   

_______    ÷  16    =   0          (    1,      16,       0 ) 

48  ÷  1  =  ________           (   48,      1,      0    ) 

The number to be divided is called as ____________    (  dividend, divisor,  quotient  )

63 pencils shared equally by 9 children. Each child will have ______ pencils.

How many times can you take away 4 from 36  (   9,    8,    7  ) 

 

Roll No.: ______ 

32 chocolates shared equally among 8 girls gives ____ chocolates to each girl. 

When a number is divided by itself we get zero as the quotient   (                 ) 

When 0 is divided by any number  (other than 0) we get 0 (                 ) 

The number to be divided is called as ____________    (  dividend, divisor,  quotient  ) 

children. Each child will have ______ pencils. 



Do as directed: 

1. Use repeated subtraction to find the answer. 

a)      24   ÷   6                                  b)   35   ÷   5 

 

 

2. Write two division facts. 

a)   8 ×  9  =   72                                      b)  5  ×  6   =  30 

 

 

3. There are    40 butterflies. They are in 8 groups. How many butterflies in each group? 

 

 

4. There are 6 people in each car. How many cars are there for 54      people? 

 

 

5.There are 49 chocolates. They are in 7 packets. How many chocolates in each packet?  

 

Challenge 

1)   There are 42 socks. How many girls can wear these socks ? 

 

 

2)     Find a way out by following numbers that can be divided by 7. 

           IN       

                                                                                                             OUT         

  28   49   58   33   17   66 

  48   14   72   50   23   59 

   8   63   7   19   56   70 

  69   43   35   21   42   77 


